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(D There is wide agreement that the disease’s fatality rates have not so far been as worse as
predicted.

(@ The groups promoted the European telecommunication model as a superior solution
than the American one.

(® Though there are thousands of pills and drugs, any of them cannot cure the common
cold.

@ The owner of the bakery next to New York Station has contributed money to a charity
for 10 years.
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(D If he had taken his patron’s advice then, he might have been alive now.
(@ A man’s worth lies not in what he has, but in what he is.
(3 You will have lost many things by September next year, if you fail to follow my advice.

@ He suggested to her that she go to the park as soon as possible.
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(D I never see him but I remind of my dead grandfather.
@ I never see him but I am thought of my dead grandfather.
(@ I never see him without being reminded of my dead grandfather.

@ 1 never see him without reminding of my dead grandfather.
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